Flipping Physics Lecture Notes:
Introductory Tangential Velocity Problem

Example Problem: Three mints are sitting 3.0 cm, 8.0 cm, and 13.0 cm from the center of a record player
that is spinning at 45 revolutions per minute. What are the tangential velocities of each mint?

Knowns:
r =3.0cm; r,= 8.0cmy; r,= 13.0cm; w =45 re'v 2rrad | lmin = 1.57tﬂ; v="7 (each)
! min| lrev )| 60sec s !
v, = ro=(3)(1.67)=14.1372 0124 1,
s s
cm
v, =ro=(8)(1.57)=237.6991~ 38

v =rw=(13)(1.57r)=61.2611z61c—m

3
t3 s

The tangential velocity of an object is, by definition, tangent to the circle the object is describing. This
means tangential velocity is, by definition, at a 90° angle to the radius of the circle.
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